Warm Up
Differentiate: ¢? = 2x-3xy+e™*
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Find the equation of the tangent line to the curve y =1+xe* at
the point where x = 0.
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Questions from Homework
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Derivatives of Logarithmic Functions

Let's work from the known..
e At this point you should know how to d1fferent1ate y = e~ \osg\s =¥

¢” ‘.-ns =X

What other function could this model? -

Iny=x

y =1In Xx.
S=x
‘_'['m?\\c\*' 'D\W — e} 5 =\

39_‘5

Try to differentiate ——

Differentiate: ) = Inx’

3
e?= %



Rule: d(Inu) =

la’u
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Practice Problem:

Page 383

#1



Laws of Logarithms

log, M +log, N =log,(MN)
M
log, M —log, N = logh(ﬁl

log,(N") = plog,(N)



We have now covered base "e"...both as an
exponential and logarithmic function...

What about other bases??

Will need to know the change of base formula for logarithms:

A/ - log, M
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1 Whatever new
Ogb‘___ base you choose

log

Differentiate:

y=loggx’ Y= '08(5—*‘4)






This leaves one form of exponential function remaining...

« What about a function such as y = 39%

X’
Try thisone... V=7
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Practice Problems:

Page 383 - 384
#1 #2a #3 #4

#5 H#O #7 #8
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